NISSAN

W
2015 10000MT

GROSS LOAD CAPACITY WHEN USED AS AWEIGHT CARRYING HITCH: 2000 LBS. TRAILER WEIGHT & 200 LBS. TONGUE WEIGHT.
***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***

PARTS LIST/LISTE DE PIECFS

Num | QTY DESCRIPTION Num| QTY DESCRIPTION

1| 3] LOCKWASHER M10 7 | 1 |FLAT WASHER 1/2

2 | 2| HEXNUT M10 8 1 |[HEXBOLT M12X50

3 | 3 FLAT WASHER 3/8 9| 1 FLAT DECRNTRE p.n. broche 6”

4 | 3] HEXBOLT M10X40 10 2 FLAT CARRE 3”

5| 1 LOCKWASHER 1/2 11 1 |FLAT ROUND NOIR 1.5"

6 | 1| HEXNUT M12X1.75 12 FILAGE SUGGERE / WIRING: 119190
(4)

INSTALLATION :

- Retirer la roue de secours puis mettre en appuis l'attache au fond de valise et au crochet de remorquage.
- Reliez le c6té droit au pare-choc interne au trou. Il se peut que le plastique blogque le trou,
alors, dégagez le trou. Serrez le tout solidement.

- Remove the spare tire and to support the hitche to the suitcase bottom and to the tow hook.
- Connect the right side to the internal bumper to the hole.

- It is possible that the plastic blocks the hole, clear the hole.

- Tighten well

SRG trailer hitches., warrants this product to be free of defects in material and/or workmanship at the time of retail purchase by the
original purchaser. If the product is found to be defective,SRG trailer hitches Inc, may repair or replace the product, at their option,
when the product is returned, prepaid, with proof of purchase. Alteration to, misuse of, or improper installation of this p

roduct voids the warranty. SRG trailer hitches Inc’s liability is limited to repair or replacement of products found to be defective, and
specifically excludes liability for incidental or consequential loss or damage.




